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Dusty Wilson

Math 111 Why are numbers beautiful? It’s like asking why is Beethoven's

' Ninth Symphory beautifirl. If you don't see why, someone can't
_ . _ teil you. I'know numbers are beautiful, If they aren't beautifil,

No work = no credit nothing is

No Symbolic Calculators Paul Exdos (1913 - 1996)

Hungarian mathematician

Warm-ups (1 pt each): 1+1= ,'2" ~2= = \

= opde forad

1
0 —

1.) (1 pt) Based upon the quote above, how did Erdos explain the beauty of numbers? Answer
using complete English sentences.
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2.) (4 pts) Find the exact solution to: 3x+22=7x+2

=7 26 =%

- "?Q::S

3.) (4 pts) Find the exact solution to: %f——i zi—%(x-—i)

3 6
EX.d { 2. z.
= 22X o4 - L Z.
= 2 3X+(8

= LUFx —{1 = 2b -2¥%x 4 9

2 Tiw = gz
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7.) (4 pts) Find and interpret market equilibrium for the following supply and demand functions:
D:p=220~4g and §:p=15¢+30. Use algebraic methods.

Solve D= s
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8.) (4 pts) Suppose a manufacturer models its monthly costs with C(x)=25x+3600 where x is
in units produced in a month and C is in dollars.

a.) Find and interpret the C-intercept.

m Fxed coscs

@ re g 2hoe,

b.) Find and interpret the slope.
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9.) (4 pts) Find a good viewing window for h(x) = @, e3x ¢ ISsad

pts (o 15000)
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4.) (4 pts) Find the exact solution to: 2x =4+
x—3 x=3

T Ix = 4(x-3) + &
O =Yy L+ &
= & = WA

| B Safu't;ag), . .
$) P IF £ (x) =32+, fing LTI

Eixrh - ) 23Xl - (3 7)Y
h ) K
- 3
h
= 73

6.) (4 pts) Use the graph to answer the following:

a) Find f(3): |

2] .
b) Find f41): ueldeds ped . B
x
c.) What is the maximum of £, : {#72 2-% T
d.) Give the domain of f in interval or inequality notation: (-1 . <1 op 'L X g

e.) Give the range of /" in interval or inequality notation: C——-'L ¢ 2“3 o’k -2 % N 22
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10) (4 pts) Tf f(x)=xl_2 and g(x)=3x=7 , find (fog)(x) = f(g(x))

Y

F(Bx;?S
.
(ax-1)

£ gl

11.) (8 pts) A street vendor sells Seahawk Super Bowl XLIX champion t-shirts for $25 per shirt.
The fixed costs are $1500 and the variable costs of are $5 per shirt. :

a.) Write the equation of the revenue function z ot w= K Py sherts  sof A,

QC'X} = 2.8«

h.) Write the equation of the cost function

C(K) = Sx+ (Soo

¢.) Find and interpret the break-even point
spluoa. 2EX = § + (500
= 2ox = 1%e
= x= 1524 5 35

24
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